

CONFIDENTIAL OIL & GA

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

| Operator: License #5214 | API No. 15 - 095-21880 | | | | |
|---|--|--|--|--|--|
| Name:Lario Oil & Gas Company | County: Kingman | | | | |
| Address: 301 S. Market Street | <u>n2_se_nw</u> Sec. 24 Twp. 27 S. R. 5 East 🗹 West | | | | |
| City/State/Zip: Wichita, KS 67207 | feet from S /N/(circle one) Line of Section | | | | |
| Purchaser: Plains Marketing L.P. / EOV Gathering | feet from E (W) (circle one) Line of Section | | | | |
| Operator Contact Person: Jay G. Schweikert | Footages Calculated from Nearest Outside Section Corner: | | | | |
| Phone: (316) 265-5611 | (circle one) NE SE NW SW | | | | |
| Contractor: Name: Duke Drilling Company | Lease Name: Stannard Well #: 1-24 | | | | |
| License: 5292 | Field Name: Bonjour | | | | |
| Wellsite Geologist: Douglas V. Davis, Jr. | Producing Formation: Mississippian | | | | |
| Designate Type of Completion: | Elevation: Ground: 1465 Kelly Bushing: 1473 | | | | |
| New Well Re-Entry Workover | Total Depth: 3906 Plug Back Total Depth: 3838 | | | | |
| OilSWDTemp. Abd. | Amount of Surface Pipe Set and Cemented at 290 Feet | | | | |
| ✓ Gas ENHR SIGW | Multiple Stage Cementing Collar Used? ☐ Yes ✓ No | | | | |
| Dry Other (Core, WSW, Expl., Cathodic, etc) | If yes, show depth setFeet | | | | |
| If Workover/Re-entry: Old Well Info as follows: | If Alternate II completion, cement circulated from | | | | |
| Operator: | feet depth tosx cmt. | | | | |
| Well Name: | DIE FLICK | | | | |
| Original Comp. Date: Original Total Depth: | Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) 4704 | | | | |
| Deepening Re-perf Conv. to Enhr./SWD | Chloride content 27,000 ppm Fluid volume 1,000 bbls | | | | |
| Plug Back Plug Back Total Depth | Dewatering method used_evaporation RECE/VE | | | | |
| Commingled Docket No | Location of fluid disposal if hauled offsite: | | | | |
| Dual Completion Docket No | | | | | |
| Other (SWD or Enhr.?) Docket No | Operator Name: | | | | |
| 05/19/04 05/26/04 WOPL - over | | | | | |
| Spud Date or Date Reached TD Completion Date or | Quarter Sec IWP O. Tr Edot From | | | | |
| Recompletion Date Recompletion Date | County: Docket No.: | | | | |
| | | | | | |
| Kansas 67202, within 120 days of the spud date, recompletion, workow information of side two of this form will be held confidential for a period of | in the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-13) and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells. | | | | |
| All requirements of the statutes, rules and regulations promulgated to regulate herein are complete and correct to the best of myknowledge. | ate the oil and gas industry have been fully complied with and the statements | | | | |
| Signature: Jay & Schwellet | KCC Office Use ONLY | | | | |
| Title: Operations Engineer Date: September 7, 20 | Letter of Confidentiality Attached | | | | |
| | If Denied, Yes Date: | | | | |
| A KATHY I FORD | Wireline Log Received | | | | |
| Notary Public - State of Kansas | Geologist Report Received | | | | |
| Notary Public. My Appt. Expires 10-22-06 Rathy | UIC Distribution | | | | |
| Date Commission Expires: 10-22-06 | | | | | |

| | . " " | x **** | | Crac | | | 1200 | , | | |
|--|---|--|--|---------------------------|-------------|--|--|-----------------|----------------------|---------------|
| N | Lario C | oil & Gas | Company | Lesse | Name. S | tannard | 12.00 | Well #: 1-2 | 4 🔍 | |
| Operator Name: Sec. 24 Twp. 2 | | | | County | | Gingman | | | | |
| NSTRUCTIONS: Sh ested, time tool open emperature, fluid rece Electric Wireline Logs | ow important tops a and closed, flowing overy, and flow rates | nd base of and shut- if gas to s | formations pe in pressures, v surface test, al | whether sh ong with fi | iut-in pres | ssure reached | static level, hydros | static pressure | es, pollom | noie |
| Drill Stem Tests Taker | | ℯ Ye | s No | | ₽ Lo | og Formati | on (Top), Depth a | nd Datum | Sa | ample |
| (Attach Additional S | • | ✓ Ye | s 🗆 No | | Name | • | | Тор | Da | atum |
| Samples Sent to Geo Cores Taken | logical Survey | Ŭ Ye | | | Indian Cave | | | 1736 | -2 | 263 |
| Electric Log Run | | ✓ Ye | | | Lans | ing | | 2928 | -1 | 455 |
| (Submit Copy) | | | | | Stark | Shale | | 3330 | -1 | 857 |
| List All E. Logs Run: | | | | | Paw | nee | | 3526 | -2 | 053 |
| GR CDL/CNL DIL | | | | | | issippian | | 3740 | 740 -2267 | |
| | | | | | | | | - | | |
| | | | | RECORD | ✓ Ne | turned. | | | | |
| | Oi Hala | | t all strings set-c | onductor, si | | rmediate, produc | Type of | # Sacks | Type a | nd Percent |
| Purpose of String | Size Hole Drilled | | (In O.D.) | Lbs. | | Depth | Cement | Used | Additives | |
| Surface | 12-1/4" | 8-5/8" | | 23 | | 290 | 60/40 Poz | 190 | 2% gel + 3 | % CC |
| Production | 7-7/8" | 5-1/2" | | 15.5 | | 3888 | AA-2 | 175 | salt + 1/4# | CF + FLA + GB |
| | | | | | | and the second s | | | | |
| | | 1 | ADDITIONAL | CEMENT | NG / SQL | JEEZE RECOR | D | | | |
| Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone | Depth Top Bottom | Туре | of Cement | #Sacks | s Used | 1 X | Type and F | ercent Additive | s | |
| | | <u></u> | | | | | | | | |
| Shots Per Foot | PERFORAT Specify | ON RECOF | RD - Bridge Plug Each Interval Pe | gs Set/Type rforated |) | | acture, Shot, Cemen Amount and Kind of Ma | | ord | Depth |
| 4 | 4 3752' - 60' & 3782' - 86' | | | | | 1200 gal 15% MCA | | | | |
| | | | | | | 57,300 gal | gel + 61,000# | 12/20 | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| TUBING RECORD | Size 2-3/8" | Set At 3721 | | Packer 3721 | At | Liner Run | Yes V No | | | |
| Date of First, Resumed | d Production, SWD or E | inhr. | Producing Met | hod | Flowin | g Pum | ping Gas Li | ft 🗾 Ot | ner <i>(Explain)</i> | |
| Estimated Production Per 24 Hours | Oil | Bbls. | Gas | Mcf | Wat | er | Bbls. | Gas-Oil Ratio | | Gravity |
| Disposition of Gas | METHOD OF | COMPLETI | ON | | | Production Int | erval | | | |
| Vented Sold | Used on Lease | | Open Hole | | rf. 🔲 | Dually Comp. | Commingled _ | | | |

ALLIED CEMENTING CO., INC.

Federal Tax I.D.# 48-0727860

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665

, INC. 15358
SERVICE POINT:

| | | M.C | |
|---------------------------------------|--|--|---|
| ALLED OUT | ON LOCATION | JOB START | JOB FINISH |
| , | | COUNTY | STATE |
| Mernon E | ut an | Kingman | <u> Ks</u> |
| it, 'la north, f | Edninto | J ' | |
| OWNER / a | rin oil + | Gas | |
| | | | *************************************** |
| CEMENT | | | |
| AMOUNT OR | dered <u>190</u> s | x 60:40'. | 2 +3%cc |
| | | | |
| | | | |
| COMMONI | 11V 1 | 0 -1 65 | 877 1 |
| | | 1 16 | 872,10 |
| | | | 27 40 |
| | | | 180.00 |
| | | | |
| | | | |
| | | | |
| | | @ | |
| | | @ | |
| HANDLING_ | 199 | | 248,79 |
| MILEAGE 4 | 5 x199 x 1 | グ <u>-</u> | 447.7 |
| | | | _ |
| | | TOTAL | 2085,6 |
| EXTRA FOOTA | AGE | @ <u> </u> | 520.0° |
| SEP | 2004 | | 760.00 |
| CONFIDE | FLOAT EQUI | PMENT | |
| 8 =/8 Wader | Plug | @ | 45,00 |
| | 7 | @ | |
| | | @ | , |
| | | @ | |
| | | @ | |
| · · · · · · · · · · · · · · · · · · · | and the second s | TOTAL. | पठ , ०६ |
| TAX | | | |
| | | 127 (27) Take | |
| TOTAL CHARG | F (6) | Carried St. | |
| | | _ | |
| DISCOUNTE (| | IF PAID | IN 30 DAYS |
| DISCOUNT (| J. HRI | IF PAID | IN 30 DAYS |
| | CEMENT AMOUNT OR COMMON! POZMIX GEL CHLORIDE HANDLING MILEAGE MILEAGE MILEAGE SEP SEP TAX | CEMENT AMOUNT ORDERED 1905 COMMON 1/4 A POZMIX 765 SX CHLORIDE 65X HANDLING 199 MILEAGE 45 X199 X. 6 SERVICE SERVICE | ALLEDOUT 30m NLOCATION SPM COMMON CX 1 |

ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. PO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

RECEIVED

SEP 0 9 2004

| | | | | | SEP 0 9 2004 | | |
|-----------|--|--------------|----------------|----------------|--------------|---------|--|
| | I | nvoice | , | ŀ | CC WICH | IITA | |
| Bill to: | 5138 | | | ce Date | Order Or | der Dat | |
| | LARIO OIL & GAS | 405 | | 28/04 | | 726/04 | |
| | P.O. Box 784 | Cement | | Service Descri | | | |
| | Hays, KS 67601 | Comone | 201190 | 3 | | | |
| | | | | AFE#0 | 14 - 966 | | |
| | . (| | Lease | | Wel | | |
| | | | Stannar | d | | 1-24 | |
| AF. | E CustomerRep Treater | Wei | Type Pt | irchase Orde | Тегп | າຣີ | |
| | Brad T Seba | New W | ell | | Net 3 | 30 | |
| <u>D.</u> | Description | <u>UOM</u> | Quantity | Unit Price | Price | 3 | |
| D205 | AA2 (COMMON) | SK | 175 | \$13.19 | \$2,308.25 | (T) | |
| D203 | 60/40 POZ (COMMÓN) | SK · | 20 | \$7.84 | \$156.80 | (T) | |
| C194 | CELLFLAKE | LB | 42 | \$2.00 | \$84.00 | (T) | |
| C195 | FLA-322 | LB | 132 | \$7.50 | \$990.00 | (T) | |
| C221 | SALT (Fine) | GAL | . 995 | \$0.25 | \$248.75 | (T) | |
| C321 | GILSONITE | LB | 124 | \$0.60 | \$74.40 | (T) | |
| C243 | DEFOAMER | LB | 33 | \$3.00 | \$99.00 | (T) | |
| C304 | SUPER FLUSH II | GAL | 500 | \$1.85 | \$925.00 | (T) | |
| C141 | CC-1, KCL SUBSTITUTE | GAL | 5 | \$40.00 | \$200.00 | (T) | |
| F143 | TOP RUBBER CEMENT PLUG, 5 1/2" | EA | 1 | \$70.00 | \$70.00 | (T) | |
| E100 | HEAVY VEHICLE MILEAGE - 1 WAY | MI | 45 | \$3.25 | \$146.25 | | |
| E101 | CAR, PICKUP OR VAN MILEAGE - 1 WAY | MI | 45 | \$2.00 | \$90.00 | | |
| E104 | PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN | TM | 412 | \$1.30 | \$535.60 | | |
| E107 | CEMENT SERVICE CHARGE | SK | 195 | \$1.50 | \$292.50 | | |
| R208 | CASING CEMENT PUMPER, 3501-4000' 1ST 4 HRS ON LOC | ΓΕΑ . | 1 | \$1,680.00 | \$1,680.00 | | |
| R701 | CEMENT HEAD RENTAL | EA | 1 | \$250.00 | \$250.00 | | |
| R702 | CASING SWIVEL RENTAL A | EA | 1 | \$125.00 | \$125.00 | | |
| | YA AI HUI | | | Sub Total: | \$8,275.55 | | |
| | OK OK OF | | | Discount: | \$1,659.93 | | |
| | MU | | | Sub Total: | \$6,615.62 | | |
| | ~ | | ax Rate: 15.30 | % Taxes: | \$218.46 | _ | |
| | U N 3 P | Taxable Item | 1/18 | Total: | \$6,834.08 | | |